2. Chemistry of Cooking /Oxidation of Food

1. Compound X reacted with hot copper(II) oxide and the organic product did not give a colour change when heated with Fehling’s solution. Compound X could be
	A butan-1-ol
	B butan-2-ol
	C butanone
	D butanoic acid
2.  The name of this compound is
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	A methanol
	B methanal
	C methanoic acid
	D methanone  
3.  Which of the following reactions can be classified as reduction?
A CH3CH2OH → CH3COOH
B CH3 CH(OH)CH3 → CH3COCH3
C CH3CH2COCH3 → CH3CH2CH(OH)CH3
D CH3CH2CHO → CH3CH2COOH   

4. 
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	Which line in the table correctly describes reactions X and Y?  
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5. Alkanols can be oxidised to alkanoic acids. 
        step 1 			  step 2
CH3CH2CH2OH 		             CH3CH2CHO 			CH3CH2COOH 
Propan-1-ol			 propanal			 propanoic acid 
a. Why can step 1 be described as an oxidation reaction? 

(1)
b. Acidified potassium dichromate solution can be used to oxidise propanal 
In step 2 . What colour change would be observed in this reaction?

(1)
6. Although aldehydes and ketones have different structures, they both contain the carbonyl functional group.
a.  In what way is the structure of an aldehyde different from that of a ketone?

(1)

b. As a result of the difference in structure, aldehydes react with Fehling’s (or Benedict’s) solution and Tollens’ reagent but ketones do not.
i. What colour change would be observed when propanal is heated with Fehling’s (or Benedict’s) solution?


(1)
ii. In the reaction of propanal with Tollens’ reagent, which colour change would be observed.
(1)

7.  Carbon compounds take part in a wide variety of chemical reactions.
a. 
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       Name this type of chemical reaction. 							(1)

b. 
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      Draw a structural formula for C3H6O. 							(1) 


8. A student makes the following statement:
 	‘Sugar can be used to produce alcohol, a carboxylic acid and the ester ethyl ethanoate’ 
Using your knowledge of chemistry, comment on the accuracy of the student’s statement
(3)
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